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With any four different positive integers under 10, we can make 10 only using +,—, X,=or ().
1+2+3+4=10 1X2+3+5=10 2+3+6-1=10 7+3 % (2-1)=10 1+3+8-2=10 9+3-2%x1=10
2+4+5-1=10 6+4x(2-1) =10  1+4+7-2=10 8+4x1+2=10 9+4-+2-1=10 1+5+6-2=10
7+5-2x1=10 8+5-1-2=10 (9+1)+2+5=10 7+6+2x1=10  8+6+2-1=10 6+(9-1)+2=10

7+8+2-1=10 7+9+-(1+2)=10 1x2x9-8=10 5x(4+1-3)=10 (4+1)x6=+3=10 3x(7-4+1=10
1+4+8-3=10  9+(4-3)x1=10 5x6+3x1=10 1+5+7-3=10 8+(5-3) x 1=10 9+5-1-3=10
1+7+6+3=10 8+6+3x1=10 1+6+9+3=10 8+(7-1)+3=10  7+9+3x1=10 8+9-+3-1=10
5x(6-4)x1=10 5x(7-4-1)=10 5x8+4x1=10 9+(5-4)x1=10 1+6+7-4=10 6+8-4x 1=10
6+9-1-4=10 2x3+9-5=10  (7-2)x6+3=10 (6+8)+2+3=10  9+6-2-3=10 7+8-2-3=10
7+9-2x3=10  8+2+9-3=10 5% (2+6)+4=10 2+5+7-4=10 5x(8-4)+2=10  2+4+9-5=10
(7-2) X (6-4)=10 8+(2+6)+4=10 (9-6)x4-2=10  (7-2)x8+4=10  7+9-2-4=10 2% (4+9-8)=10
2+6+7-5=10 8+2x(6-5)=10  2+5+9-6=10 (G+7+8)+2=10  9+(7-5)+2=10  8+9-2-5=10
8+2x(7-6)=10  2+6+9-7=10 9+(2+6)+8=10 2+7+9-8=10 3X4x5+6=10 3x4-7+5=10
5+3+8+4=10  3X5+4-9=10  4x(7-3)-6=10  (8-3)x(6-4)=10 3+4+9-6=10

Q. With 3,4,7 and8, make 10 only using +,-, X, =or () like above.
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